
An easy (appearances notwithstanding) 

Puzzle by John de Cuevas  solved 
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The puzzle celebrates THE HARVARD YARD by featuring the names of eight of the 
buildings that occupy its periphery. They are, starting at 1 and reading down and across, 
MOWER, HARVARD, LEHMAN, and WIGGLESWORTH; then, starting at 2 and 
reading across and down, HOLWORTHY, ROBINSON, EMERSON, and LAMONT. 
 
Answers to Clues 

1. HOOTER 
2. THROWN 
3. HARDY 
4. SIBYL 
5. RHYTHM 
6. LAMENT 
7. ALDER 
8. SNORE 
9. WEAVER 
10. HOARD 
11. OTHER 
12. DYNAMO 
13. ANGRY 
14. SWATH 
15. MIDGET 
16. HOWLER 
 

 

LATHER 

STREAM 

THREAD 

TRAGEDY 

DRAWER 

HEALTHY 

HISTORY 

HYDRANT 

 


